1 Supplementary Appendix

Proof of Lemma 1.
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Note that ¢) = (n — v). Then (1) is equivalent to:
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Equation (2) shows that % = 2 (0, — 0),) Z where = equals the expression
in the square brackets. We now continue to work with =.
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This proves that = = (Wfl) v~1Q) where Q) equals the expression in the square
brackets. We continue to work with €.
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Now take into account that
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Equation (3) is then equivalent to:
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Equation (4) shows that (2 is positive if and only if
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Taking logs of this equation we obtain:
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where f () =1 15— o (yn)_zfﬁn . Therefore Q > 0 if and only if
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Proof of Lemma 2.
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Substitute in the values of 7, v, v taking into account that p = 1. Fur-
thermore substitute in 6, = 1 (Assumption 1). Equation (6) then implies
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that 2 < 0 if and only if
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